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Prob. 3.12

It is known that a force with a moment of €60 N - m about D is AN-m
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Prob. 3.13

0.2m
Fig. P3.11, P3.12 and P3.13 O &_

It is known that a force with a moment of 960 N - m about D is
required to straighten the fence post CD. If the capacity of winch puller AB
is 2400 N, determine the minimum value of distance d to create the specified
moment about point D.
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Prob. 3.22

3.22 A farmer uses a rope and pulley to lift a bale of hay of mass 26 kg.
Determine the moment about A of the resultant force exerted on the pulle\
by the rope if the center of the pulley C lies 0.3 m below point B and 7.1 m
above the ground.
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Prob. 3.48

Fig. P3.47 and P3.48

3.48 The 061 x 1.00-m lid ABCD of a storage bin is hinged along
side AB and is held open by looping cord DEC over a frictionless hook at E.
If the tension in the cord is 66 N, determine the moment about each of the
coordinate axes of the force exerted by the cord at C.

staticschap03 Page 19



Prob. 3.57

an erectaed on unes
. : : 3
l"'"' ?"'l"l"_!'[f’t!!l‘. il.,.. it 1
1 1 :

Fig. P3.57 and P3.58

LoCpTEe  PORNT °

(2,%>

D(%%}~

\ 4R
5(3 él Qé) 27>()1\) F(l(} \/L// §7> (

. d}(:XF”Xﬁ:fL(

C AP D

md EG

%BD
Tee (5) 0+ (R ) G
Ve - (‘&)A G >J (‘\}F

\ i\@ 3 G\‘) T *( Nf I *&z} A
(M- T * T K

MOMENT BoW7 A

Mz‘@ = D MA %4

PROTECTION oF Mg,
AD

Moo = Map - >\/s<o

NECTOR  coMPINAST

05 Ma ALod6  AD

OINT YE = Q¢
¢ =T (2) = 34,97

Xe =4S 0536.7°= 36"
ZeTYS 53 369° = 270

O (O

_,Bé :_M/;f(\)









Prob. 3.58

Fig. P3.57 and P3.58

3.58 A sign erected on uneven ground is guyed by cables EF and EG.
If the force exerted by cable EG at E is 54 Ib, determine the moment of that
force about the line joining points A and D.
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Prob. 3.76
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Prob. 3.77

3.77 1 P =0, replace the two remaining couples with a
single equivalent couple, specifying its magnitude and the direction of its
axis.
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Prob. 3.97

y 110-N force acting in a vertical |1|.LI|I' |5-|‘-'.|”1'! to the 1z 5:-|.IIII' is
,;|1|||1= d to the 220-mm-long horzontal handle AB of a socket wrench. Re-
|||.u.'-- the force with an equivalent force-c -|l]'l|l- svstem at the origin O of the

coordinate svstem
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Prob. 3.119
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Prob. 3.120

3.120 Two 150-mm-diameter pulleys are mounted on line shaft AD.
The belts at B and C lie in vertical planes parallel to the yz plane. Replace
the belt forces shown with an equivalent force-couple system at A.

Yy

240 N

Fig. P3.120 _
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http://cecs.wright.edu/people/faculty/sthomas/me212qui
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1. (25 points) Determine the magnitude of the resultant force and its direction meas

F=(F o)t +( G- \N“
D =70+ 45" =|35° 8

\ E 47 0313597 +(é0'5/fd/3§2

L-(nwt) i +(Twa);

Q

O = (80+20 = 20

Yo T (70 (o5 1(0”>Z + (70-§/Q2(0“>f =
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http://cecs.wright.edu/people/faculty/sthomas/me212quiz1w12.pdf

Thursday, September 18, 2014
3:02 PM

2. (15 points) Blocks D and # weigh 5 Ib each and block £ weighs 8 Ib. Determine the
sag & for equilibrium. Neglect the size of the pulleys.

(Ems = /i( =5

& =T (7

http://cecs.wright.edu/people/faculty/sthomas/me212quiziw12.pdf
Screen clipping taken: 9/18/2014 3:02 PM
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Thursday, September 18, 2014
3:09 PM

3. (60 points) Determine the force in each cable needed to support the 3500-1b platform.
Setd =4 fi.

&

http://cecs.wright.edu/people/faculty/sthomas/me212quiziw12.pdf
Screen clipping taken: 9/18/2014 3:09 PM
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